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Spiders use a wide range of strategies to capture prey, including trapping it in sticky
webs, lassoing it with sticky bolas, and mimicking other insects to avoid detection.

[1] trapping, lassoing, mimicking (X)
[2] trapping it in sticky webs, lassoing it with sticky bolas, mimicking other insects to avoid
detection (O)
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A2l “trapping it in sticky webs” 2t “lassoing it with sticky bolas,” 22|11 “mimicking other insects to avoid
detection”0| EFZE O|FLIL}.
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Spiders use a wide range of strategies to capture prey, including trapping it in sticky webs,
lassoing it with sticky bolas, and mimicking other insects to avoid detection.

[1] to capture, trapping, lassoing, mimicking, to avoid (X)
[2] to capture prey, trapping it in sticky webs, lassoing it with sticky bolas, mimicking other
insects to avoid detection (O)
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| eat an apple.
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us¥) it/
past tense ate US /eit/ | past participle eaten US /'i-t°n/

eat verb [IIT] (HAVE FOOD)
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to put food into the mouth, chew it, and swallow it:

*[T] HeEte a hamburger{for lunch.

eat an apple

[3] H3l= H&0] El= At2H(an apple)E F7I8HFACL] CHE2 20| 202 MEE SAt eatO] E3i5H=
o|o|7t (ArHof)) i E 2 2t & ASLICH.
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| eat an apple.
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| eat an apple.
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The boy blew out all the candles with one breath.
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Both of the girls have sung in the choir for years.

=0

701 + etxist

Her dazzling performance as Joan of Arc
rendered the audience speechless.
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After a lengthy campaign process, the students
elected Miguel.

F0 + 2t

&
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Maria taught her family’s dogs some clever tricks.

0| + AESt
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| found that kind of glue ineffective for building
model airplanes.
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blew candles (28

boy blew candles (2EH0| £E& ZiCh

have sung (\=2{E S2{CH

Both have sung (20| 2iE S2{2ICH

EESS

rendered audience speechless (B&=0|
2= DHEQCH

performance rendered audience speechless (A
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elected Miguel (Miguel2 M&E3HCH
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taught dogs tricks (HollA| |FE 7tEXICH

Maria taught dogs tricks (MariaZ} ZHOoj|7| ;=&
7=

found kind ineffective (A% F/7t £1}7} QiCt=
AHAE AMNCH
| found kind ineffective (L= 281 SF7t 2147} 9f

Ct= AMS 23O

|3



ZEAITO| Lig 1=

BEAMT, SYATE S22 SAFE 2t 20 #22 EYLLL &, (22 flsiM) 2 =
o| 201 HEHE HAMAHANM TS 20| ESATLYLICE W2t =SAS| o4 2 2
F52| ol Bof et st ELCE

—

|4



to infinitive phrase

ol

n
][0
Ho

&l to BP0 RES MEM Q.

H

It was hard to measure just the right amount of flour, and the dough became sticky. (X)
It was hard to measure just the right amount of flour, and the dough became sticky. (O)

to AT E st 20 S22 &0 HEHE #HESH ZARILICE. measure amount2hs 2tFSH £0{0f| toS 0|11, measure2t
Al L,

gerund phrase

CHe 230 ZetE SYA| 2SS MEMR.

Mixing the dough was the first task that gave us trouble. (X)
Mixing the dough was the first task that gave us trouble. (O)

H

—

Bl

]
ol
o

HelLCt, 2H

L

rak

ol
0=
>
4
rir
o
A
o
>
2
3o
ojo
10
>
2
ogk

b £0] £22! mix the doughOilA £0{2l mixE mixing2 = et

participle phrase

CHE B0 ZeE 2A0] 2ES MEM L.

0jo
MO

| can almost see Grandmother wearing her dress with the roses. (X)
| can almost see Grandmother wearing her dress with the roses. (O)

SAE st 201 F32| 20 FEE Ha st AYLICE 2tXsH 20| T3l wear dressO|AM £0{Q! wearE weraing2 2 #Hat Al
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| want to see that film again.

Jane didn't have time to read my paper.

The football sitting near the goal-post is Ahmed’s
Moving their vehicles to the right, all of the drivers let the ambulance pas
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| eat an apple.

|

| want to eat an apple.
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| want to see that film again.

Jane didn’t have time to read my paper.

The football sitting near the goal-post is
Ahmed’s.

Moving their vehicles to the right, all of the
drivers let the ambulance pass.

[1] want to see that film again
— | want to see that film again.

[2] to see that film again
— | see that film again.

[1] didn’t have time to read my paper
— Jane didn't have time to read my paper.

[2] to read my paper
— Jane read my paper.

[1] is Ahmed’s
— The football sitting near the goal post is
Ahmed’s.

[2] sitting near the goal-post
— The football sits near the goal-post.

[1] let the ambulance pass
— Moving their vehicles to the right, all of the
drivers let the ambulance pass.

[2] Moving their vehicles to the right
— All of the drivers move their vehicles to the

right.

[3] pass
— The ambulance passes.
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Mending and restoring objects often require even more creativity than original
production. The preindustrial blacksmith made things to order for people in his immediate
community; customizing the product, modifying or transforming it according to the user,
was routine. Customers would bring things back if something went wrong; repair was thus
an extension of fabrication. With industrialization and eventually with mass production,
making things became the province of machine tenders with limited knowledge. But repair
continued [to require a larger grasp of design and materials], an understanding of the whole
and a comprehension of the designer’s intentions. “Manufacturers all work by machinery or by
vast subdivision of labour and not, so to speak, by hand,” an 1896 Manual of Mending and
Repairing explained. “But all repairing must be done by hand. We can make every detail of a
watch or of a gun by machinery, but the machine cannot mend it when broken, much less a

clock or a pistol!”
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Mending and restoring objects require creativity
blacksmith made things
; customizing product, modifying or transforming it )
was routine. Customers would bring things if something went wrong; repair was
extension ) ,
making things became province . But repair
continued [to require grasp 1
. "Manufacturers = work
S Manual
explained. ” repairing must be done . We can make detail

, but machine cannot mend it when broken,

Ill
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Mending and restoring objects require creativity
blacksmith made things
; customizing product, modifying or transforming it )
was routine. Customers would bring things if something went wrong; repair was
extension . ,
making things became province . But repair
continued [to require grasp 1,
. "Manufacturers = work
S Manual
explained. ” repairing must be done . We can make detail
, but machine cannot mend it when broken,

Mending and restoring objects often require even more creativity than original
production. The preindustrial blacksmith made things to order for people in his immediate
community; customizing the product, modifying or transforming it according to the user,
was routine. Customers would bring things back if something went wrong; repair was thus
an extension of fabrication. With industrialization and eventually with mass production,
making things became the province of machine tenders with limited knowledge. But repair
continued [to require a larger grasp of design and materials], an understanding of the whole
and a comprehension of the designer’s intentions. “Manufacturers all work by machinery or by
vast subdivision of labour and not, so to speak, by hand,” an 1896 Manual of Mending and
Repairing explained. “But all repairing must be done by hand. We can make every detail of a
watch or of a gun by machinery, but the machine cannot mend it when broken, much less a

III

clock or a pistol
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Researchers began something.

Researchers began to believe that runners are able. (25242 Al2E Z5A17 L H)
Researchers began to believe that runners are able to adjust leg stiffness. ($+A0Z ALZE E2SA)

Researchers began to believe that runners are able to adjust leg stiffness prior to foot strike. (A0{2 AIZE
HXIAL)

Researchers began to believe that runners are able to adjust leg stiffness prior to foot strike based on
their perceptions. (40|12 AI8E ESAH)

Researchers began to believe that runners are able to adjust leg stiffness prior to foot strike based on their

perceptions of the hardness or stiffness of the surface. (A2 AL El HX|ALR)

Researchers began to believe that runners are able to adjust leg stiffness prior to foot strike based on their

perceptions of the hardness or stiffness of the surface on which they are running. (+=4I0{2 A& H)

Researchers gradually began to believe that runners are subconsciously able to adjust leg stiffness prior to

foot strike based on their perceptions of the hardness or stiffness of the surface on which they are running.
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